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In the question below, a sentence is divided into four 

parts out of which one part has an error in it. Find the part 

with error and mark that as your answer.



Facilities that are (1)/ free are now (2)/ being priced based 

(3)/ on the market principles (4).

1. 1

2. 2

3. 3

4. 4

5. No error



We are still unable (1)/ to control pollution and this 

reveals (2)/ the system’s failure, which has (3)/ been 

responsible to climate change(4).

1. 1

2. 2

3. 3

4. 4

5. No error



We all agree (1)/ that air pollution is (2)/ a problem and 

(3)/ know many of the solutions (4).

1. 1

2. 2

3. 3

4. 4

5. No error



Indian banks have to (1)/ be more pro-active (2)/ in 

adoption technology (3)/ to attract the customers (4).

1. 1

2. 2

3. 3

4. 4

5. No error



It is still cheaper and (1)/ more convenient for farmers 

(2)/ to simply burning fields with stalks (3)/ than to rent 

or buy those machines (4).

1. 1

2. 2

3. 3

4. 4

5. No error



A passage is given below with six blanks. You have to 

choose, among the given options, the best possible 

alternative for each blank.



Our history is also full of great achievements in the arts and sciences; in both 

fields, we have attained great heights. Looking back, man started as a hunter-

gatherer living in caves. Gradually, he learned the art of agriculture and began 

to grow multiple crops. Scientific research _______(1) in various fields and 

we entered the industrial age, which brought about a major _________(2) 

change in communications and transport, besides steel manufacturing and 

electricity production. Man moved on and today we are in the  ________(3) of 

an IT revolution as well as artificial intelligence, which are bringing about 

________(4) shifts in our lives. We have ________(5) beyond our planet and 

are exploring the Moon, Mars and the stars. In the arts, we have new forms 

and mediums, which are spreading throughout the world. There is a great deal 

of experimentation taking place in these fields.



Scientific research _______(1) in various fields and we entered 

the industrial age, which brought about a major _________(2) 

change in communications and transport, besides steel 

manufacturing and electricity production. 

Select the most appropriate option in blank no. 1

1. alluded

2. regress

3. progressed

4. inhibited

5. None of these



Scientific research _______(1) in various fields and we entered 

the industrial age, which brought about a major _________(2) 

change in communications and transport, besides steel 

manufacturing and electricity production. 

Select the most appropriate option in blank no. 2

1. structural

2. qualitative

3. retard

4. explicit

5. None of these



Man moved on and today we are in the  ________(3) of an 

IT revolution as well as artificial intelligence, which are 

bringing about ________(4) shifts in our lives. 

Select the most appropriate option in blank no. 3

1. periphery

2. crisis

3. precise

4. midst

5. None of these



Man moved on and today we are in the  ________(3) of an 

IT revolution as well as artificial intelligence, which are 

bringing about ________(4) shifts in our lives. 

Select the most appropriate option in blank no. 4

1. fiddling

2. mettle

3. tectonic

4. trivial

5. None of these



We have ________(5) beyond our planet and are 

exploring the Moon, Mars and the stars. 

Select the most appropriate option in blank no. 5

1. ventured

2. obscured

3. guarded

4. distinguished

5. None of these



Choose the most appropriate word to fill in the given blank.



It is not a Terminator robot _________from a data centre 

that will cause the _________of humanity.

1. slumbering, evolution

2. nodding, downfall

3. arising, destruction

4. emerging, progression

5. None of these



It is _________to determine or fix a general ________ 

level of working hours.

1. reasonable, passable

2. complicated, optimum

3. augmented, standard

4. difficult, accretion

5. None of these



_________farmers, and maximized farm production in 

their fields, are the building blocks of India’s food 

security and________.

1. impeding, adversity

2. empowering, prosperity

3. diligent, veracity

4. inhibiting, sustainability

5. None of these



_________air pollution is not a one-strike fight, it has to be 

________on several fronts.

1. tackling, outlined

2. ensuring, addressed

3. Dispelling, shaped

4. combating, tackled

5. None of these



Even a laptop is as much _________but cell phones bear 

the brunt thanks to their _________and multi-purpose 

nature.

1. vulnerable, ubiquitous

2. liable, aberrant

3. perching, unusual

4. culpable, portable

5. None of these



Match the statement(s) from column 1 and column 2 and find 

which of the following pairs of statements given in the options 

make(s) contextually and grammatically correct sense.



1. Only C-D and A-E

2. Only B-D

3. Only C-E

4. Only B-D and C-F

5. Only A-F and B-E

Column (1) Column (2)

(A) The main objective of these 

initiatives is to improve the livelihoods

(D) in states that consistently face 

natural disasters

(B) The law further aims to determine 

how forests
(E) Can be utilised for economic gain

(C) Social media has become an 

important platform
(F) of these reliant on forest resources



1. Only B-D and C-E

2. Only A-D

3. Only C-E

4. Only A-D and B-F

5. Only A-F and C-E

Column (1) Column (2)

(A) I would like to reassure people
(D) Which affects not only the individual 

but also his/her family 

(B) It leads to a good legacy effect
(E)Which is why it is the leading cause of 

blindness

(C) Diabetes remains sub-optimally 

controlled

(F) Which provides protection from 

complications caused by diabetes
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